
Задание  для учащихся 11 классов 

 

I. Чтение 

 

Прочитайте текст и заполните пропуски A-F частями предложений, 

обозначенными цифрами 1-7. Одна из частей в списке 1-7 лишняя. Занесите 

цифры, обозначающие соответствующие части предложений, в таблицу. 

 

Health Advice for Travellers 

Doctors tend to be poor educators; we have depressingly little to show for our 

efforts to educate the general public on even such a clear-cut issue as the effects of 

cigarette smoking on health.  How much more difficult, then is it for doctors to provide 

large numbers of departing travellers with detailed information and effective advice for 

their trip when the usual forum for doing so is a single, hurried consultation, just before 

departure. There are limits to what can be achieved in or should be expected from a 

medical consultation A_____, even when the doctor is well- informed about the subject, 

and the traveller is receptive, has a perfect memory, and is good at doing what he or she 

is told. 

What kind of advice should travelers receive? A list of rules and instructions 

B______ carries the implication that travellers are incapable of understanding the 

principles involved, are not interested, or do not ‘need’ to know. C______ advice 

offered on such condescending terms is seldom followed for long. The best advice is not 

a list of dos and don’ts, but a clear, rational explanation from which a conclusion is 

obvious. 

D_____, we have studiously avoided giving advice to consult a doctor without 

stating the reason for doing so. ‘Consult your doctor’ is a useful formula to enable 

advice-givers to avoid difficult issues, but is a particularly unhelpful one when it relates 

to a problem which may arise abroad. E_____to find a doctor in a remote place. Some 

85% of the world’s population have never seen a doctor, and never will. Advice for 

travellers must take account of the fact that travellers to many parts of the world will be 

F______. 

1. It is hardly surprising that 

2. But despite this  

3. Throughout this book 

4. In the same position 

5. Given without explanation or justifications 

6. It is not easy 

7. Under the best of circumstances 

 

A B C D E F 

      

 

 



II. Грамматика и лексика  

Прочитайте приведенные ниже тексты. Преобразуйте слова, напечатанные 

заглавными буквами в конце строк, обозначенных номерами 1-7, так, чтобы 

они грамматически соответствовали содержанию текстов. Заполните 

пропуски полученными словами. Каждый пропуск соответствует отдельному 

заданию из группы 1-7.. 

 

Teen Spending 

1 

2 

3 

A large-scale research _________ by advertisers on spending 

habits of ________teenagers. It has come up with some 

fascinating results. Girls across Europe ________ in age from 

15 to 18 were interviewed. The researchers discovered that 

these girls want to be successful and sophisticated and are 

willing to spend to achieve the look they want – when they 

have the money, that is! 

DO 

TODAY 

RANGE 

 

Exams 

 

4 

5 

6 

7 

Now look here. Whatever your personal opinion about exams, 

there is no way you can avoid _____. They are, at best, a 

necessary evil but very much a part of our_____. Tests and 

examinations are given not only a ______ learning abilities but 

also to see how well a particular subject___________. 

 

THEY 

LIFE 

STUDENT 

LEARN 

 

Прочитайте приведенный ниже текст. Преобразуйте, если необходимо, слова, 

напечатанные заглавными буквами в конце строк, обозначенных номерами 8-

13, так. чтобы они грамматически и лексически соответствовали 

содержанию текста. Заполните пропуски полученными словами. Каждый 

пропуск соответствует отдельному заданию из группы 8-13. 

 

JOGGING 

8 

 

 

9 

10 

 

11 

12 

13 

Slow, relaxed, ………… running is an excellent exercise for 

cardiovascular fitness and weight control. It requires no special 

skill, little expenditure, and can be done almost anywhere. But 

excessive jogging, especially on hard surface, can result in 

………… to the joints and muscles. Regular jogging also tends to 

shorten and ……….. muscles because movements take place 

through a restricted range and are repeated many times. This makes 

it important to perform stretching exercises to maintain the ………. 

of the muscles most at risk. To get the greatest benefit and ……… 

the risks, it is best to increase your …………..distance slowly, by 

no more than 10-20 per cent every two weeks. 

CONTINUE 

 

 

 

INJURE 

TIGHT 

 

FLEXIBLE 

MINIMUM 

WEEK 

 

 

 



Прочитайте текст с пропусками, обозначенными номерами 14-20. Эти 

номера соответствуют заданиям 14-20, в которых представлены возможные 

варианты ответов. Укажите  номер выбранного вами варианта ответа. 

 

What do trees do? They blind together hillside soil and reduce erosion 14_____to run-

off. Besides 15_____ a source of food and income-earing products, forests function as 

natural ‘gene banks’ and as a veritable virtual 16____ of biodiversity. Products from 

trees, shrubs, forests and bush lands provide a source of nutrition 17_____ingredients 

for medicines. Trees 18_____ provide shade to cattle and crops, leaves and pods 

provide fodder and the wood serves as fuel or is used for construction activities. They 

slow the wind and 19 _____it from fields, protecting the crops and reducing erosion. 

They can also be grown as cash crop for fruits, oil, timber, latex and gum 20_____. 

Trees help recycle nutrients from deep in the soil to the surface – nitrogen fixing trees 

act as natural fertilizers by absorbing nitrogen from the atmosphere and fixing it in the 

soil. 

 

14 1) thanks 2) because 3) in view 4) due 

15 1) to provide 2) they provide 3) providing 4) provision 

16 1) pot 2) pool 3) fund 4) purse 

17 1) as well as 2) including 3) except 4) omitting 

18 1) fundamentally 2) basically 3) radically 4) essentially 

19 1) deflect 2) bounce 3) discourage 4) reflect 

20 1) to the point 2) to name a few 3) to the same extent 4) to say the least 

 


